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L #ab BfAREY - Hd®+2ab+5+a+b=0 » HIBEH @, b)F AR FHIEHE?
(A)(7,-7) (B)(9,-10) (O)(:3,3) (D)(13,-12)

S

a’+2ab+b*+a+b=0

(a+b)* +(a+b)=0

(a+b)a+b+1)=0

La+b=05a+b+1=0

(13, -12)fL A > 13-12+1#0 > 3 D -

2. Two squares A and B are side by side and share a vertex. Which of the following cannot be
the length of the line segment connected by any two points of the seven vertices?

(A)V20 (B)v40 (C)v52 (D)+/70

Bls%: WIEIE S AR B MR —(ETERL - FFIH—IEA pe o E TERS TR A
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— 6 T

I H
<fhT>
DF 22122 =8 ; DH=\$?+62 =100 [ - B
EH =62 +62 =72 1 CG=V22+82 =468 0 T G A

CI=V4%+2%2 =20 ; CH =+4%+8% =80
FH =42 +62 =52 ; DI =22 +6% =40
SRE[REHIERAT0 > EED o

3. BEfla-b=5> Vi6+a+Jb=7 > K16+a-b Z{HEZ%/1? (A)2 (B)3 (C)5 (D)7
<fiffr>

W16+ +b)16+a —b)=16+a—b

Tx(16+a —+b)=16+5=21

" (W16+a-+b)=21-7=3 > HEB -
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4. JERMIZEAFRUERETFES —CEER > FATUIEEER @ AifTFitEE A
B B AR el R

TEEEOT) | ... 28129 |30 |.......
SLETOD | 90 | 120 150] .......

ERETFEBIEUEEH S ER  SEETE 36 ATHELEEZES/IT?

(A)240 (B)270 (C)300 (D)330

<fEAT>
SITEREENT > 52#HE y 0> Hly=ax+b
150 =304 + b
> 4=30 * b=-750
120=294+b

L y=30x-750 > Ex=36 > y=36x30-750=1080—750=330 > D -

5. [Ifapositive integer a 1is divided by seven natural numbers 2, 3, ..., 8, and the remainders
are all 1, then the minimum value of a is . (A)839 (B)840 (C)841 (D)842

<BleE —(E R 23~ ... » 85T H AHER - FTSAVeRBE R 1> HlaBYE
IMERE_ e

fiFEtiT>
,3,4,5,6,7,8]=840
e/ IME=840+1=841 » #E C -

A
4

><1w

6. {LFHV3-2v2 +46-442 =2 (A) 242+1 (B) 242-3 (C)1 (D) 3-2v2
<fif>
V3-2v2 +46-442 = (V2 -1)2 +y2-42)> =2 -1|+[2-2|=v2-142-42=1 > EEC

7. ERA x BUAFEE o MPTHREIINUE 10> Qi miydeEE

{3 2x<2

(A) 4<m<5 (B) 1<m<5 (C) 1<m<5 (D) E£m<5
<fEAT>
3-2x<2—>2x2>1 > XZ%

X— m<09x<m

. m>x>5 H SRR RTE 10
x=1-2-3-4 » T miJEIEE4<m<5
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8. HAWIFE/INEK - EIEE—FEE 50 FERES 4G - RIS FEEEE—4E% 1 15 B
5 AR HU S BUESS —4E 0 RIS —AEEEEE ARG 2 % 0 RIS —Fary/ Nk SR )
FITEDL N - s R/ NEREI(EEDE P8 - (A)37 (B)38 (C)39 (D)40

<fFEtr>

BB ENRIVEE - S5~ x B RISE 55 2x fH

R AINE S - SB5—FE & x+50 B > 55 48 Ry 2x-50 FH

H—Ee8E y A » B x+50+y B > 55 58 F 2x-50-y

R %l x+50+y=(2x-50-y)x3

" XH50+y=6x-150-3y » Sx-4y=200 > 5x=200+dy H E—FBa 5

B y=5 > x=44 DE—5 44+50=94 > 5555 88-50=38 - #EB -

= HEREERE S oy 0 140 97)

I. 44 - ABCD BIEJSY » BC=15/377 » PQRS HZIEJ Y » POEBD L > R ~ ST
BETTHIAE AD ~ 4B L > RITEJTIE PQRS HYHIMEZ SR RGT o

<> 4 R D
/%\sz » BD =3x

_ s
H BD =+15%+15% =450 =154/2 ©

.'.3x:15\/§ ) sz\/E
IE T EfE=x% = (5v2)% =50 “E 7057

2 §+:§i(42§)2 ~2x (42§)>< (38%) +(38§)2 +5x% (42%) -5 ><(38§)—6 HIE 5 °

<fitfr>
2 2
AN
a=42= > bh=38=
- 3 3
Coa? =2ab+b% +5a—5b—6=(a—b)> +5(a—b)—6=(a—b+6)a—b—1)

(a—b+6)(a—b—1)=(42%—38§+6)(42§—38§—1):10><3:30

3. The picture of side-by-side rectangles on the right is composed of a regular hexagon with a
side length of 1 cm. If the periphery of this figure represents the perimeter of the solid line
part is 102 cm. How many regular hexagons are there in this figure?

B GRNIHERTIVER HERR | AoMIENEPAE - MREMEENEESRS
BRI ERE 102 A7 o EfEETE 2/ D ELENER ?

<t

%g{ J& % a; =6

A R ay =6+4

=8 EH a3 =6+4x2

5 n B E 1 a, =6+4x(n-1)
6+4x(n-1)=102 > 4n-4=96 > n=25 |
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15 9 2 6 10| |3 7 11

13 17 21| f14 18 22| |15 19 23| ...

25 29 33| |26 30 34| [27 31 35

<fEfT>
= 41 {E1ET5TP

41 (45|49

535761

65|69 |73

B AI=(41473)x9+2=513 B 57x9=513 -

5. Known n numbers x;, x ,x3 ,.......,x, ,each of them can only take one of the three

=2
numbers 0, -1, 2, and satisty { ) , then the value of

<tk
X Xy Y Xy Y ... X, 5 a{[E-1 Flb [ 2

—a+2b=2
I e A = @
TR |

a==6 ) b=4

.'.x13+x23+ ...... +xn3=a(—1)3+b><23=—6+4><8=26

6. FEEE - » 28§ _AT -~ Zasstigs - SR 1000 £R > Z3hEEAEE 1250
I E‘%Dﬁ?ﬁ 25 ~ ZEGIEFR T RIRETA RS 20 ~ 25 ~ 30 #4af - FEEEfE RG] - 28
SIE LA RS E%’C%E FHAE RS - AR ZsthiEie) - WYHE [EIRF B AR HLERR4E R -
Lo ERERS K-

<fEtfr>

BEe £ x RAEHH > By RAEZME

20(x+y)+25x=1000...... D

30(x+y)+25y=1250...... @

(D+H2)—50(x+y)+25(x+y)=2250
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75(x+y)=2250 » x+y=30
20x30+25x=1000
25x=400 > x=16

T EZAERHIAIR SR 16 RAE IR 25 -

7. Ellla+b=2 - abz% »SRACELE a2b + 2022 + ab? Y fE= g
<ff >
@

a2b+2a2b2 + ab’ =ab(a+2ab+b)=§x(2+§x2)= ;

8. Bl a?+a*-2=0> Rll+va+a®+a’+...+a*"%=
<fifr>

a’+a*-2=0—>a*+a?>-2=0 1 (@®>+2)@®>-1)=0

Coa?-1=0 > a=+I1

Ha=1> 1+1+1+.. . +1=2023 & Fa=-1 > 1-1+1-... +1=1

= EFEIRE(I0 5310 43 > 2£20 43) CREE B Ay

L W TERRS— B NITR » SEEASY 1B R 24 (385 5 24 A FHSHE
TR N RUBSEIT 52 o A ALY 3 (8 - BRG] T

<fifi>

BRI AT x A > HIBERAT xx1+ 243 x - {

.'.%x2 —x4+24—>x2=2x+48 1 x> _2x—48=0
(x-8)(x+6)=0

Cox=8x=—-6(F%)
B =8x1+24=32 > 32-8x3=81[f °

2. WfE - FEZAY ABCHIE R 2 0 B O fyAC HPEL - Bh D 75948 FIE#EH) » LLaD Fy
BEGHESE = ADE » 5 OF » K& OF Hf/IME?
<> 4

" AABC RSEE=AT > B5 O FyAC ik
.'.R‘z%% > ZABD = 60° S5 )

AABC F1/\ADE 15 f%38 = A » #PECE
1£AABD f1AACE th B~ D C
(D AB=AC () AD=AE (3)/BAD = /CAE
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.". AABD = AACE (SAS %)
" E AFHL AC B 60° Y5 45% E
% OE LCE » OEHJEER/N
" ZOEC =90° > ZCOE =30°
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